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1. (…) …éïõ ï×õ¸Û¶Ûà¶Ûä× ÍÛ¶Û 2012¶ÛÛ ÈÛÌÛÙ¶Ûä× …×þùÛœ÷©Û Š©¸ÛÛþù¶Û …¶Ûé ÈÛé˜ÛÛ¨Û 40,000 …éïõ¾Û¶Ûä× ¶Û‘õà 
ïõÁõÈÛÛ¾ÛÛ× …ÛÈýÛä×. …¶ýÛ ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé : 7 

  – ÈÛé˜ÛÛ¨Û Ýïõ¾Û©Û –  …éïõ¾Ûþùà¥ø ` 15 
  – ˜ÛÜÅÛ©Û ”Û˜ÛÙ –  …éïõ¾Ûþùà¥ø ` 6 
  – ÜÍ¬ÛÁõ ”Û˜ÛÙ –  ` 3,00,000 
  ï×õ¸Û¶Ûà ÍÛ¾ÛÛÈÛéÉÛà ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ïõÁéõ ™öé …¶Ûé ÜÍ¬ÛÁõ ”Û˜ÛÙ¶ÛÛé …×þùÛœ÷©Û þùÁõ …éïõ¾Ûþùà¥ø ` 

8 ¶Û‘õà ïõÁõÈÛÛ¾ÛÛ× …ÛÈýÛÛé ™öé. 
  ÈÛÌÛÙ 2012 þùÁõÜ¾ÛýÛÛ¶Û ºõî©Û 30,000 …éïõ¾ÛÛé¶Ûä× ÈÛé˜ÛÛ¨Û ¬ÛÉÛé ©ÛéÈÛä× µÛÛÁõÈÛÛ¾ÛÛ× …ÛÈýÛä×. ÍÛ×˜ÛÛÅÛïõÛé…é 

Š©¸ÛÛþù¶Û¶ÛÛé ›÷¬¬ÛÛé ÈÛµÛÛÁõà¶Ûé 50,000 …éïõ¾Û ïõÁõÈÛÛ¶Ûä× ¶Û‘õà ïõýÛäÚ ›÷é¬Ûà ÈÛµÛä ¶ÛºõÛé þùÉÛÛÙÈÛà ÉÛïõÛýÛ. 
ÜÍ¬ÛÁõ ”Û˜ÛÙ¶Ûä× ¸Ûó¾ÛÛ¨Û …é›÷ ÁõÐéüÉÛé ©Ûé¾Û µÛÛÁõÈÛÛ¾ÛÛ× …ÛÈýÛä×. 

  ›Ûé ÈÛé˜ÛÛ¨Û 30,000 …éïõ¾Û ÐüÛéýÛ ©ÛÛé 
  (i) ÍÛ¾ÛÛÈÛéÉÛà ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û ¸Ûó¾ÛÛ¨Ûé 
  (ii) ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û ¸Ûó¾ÛÛ¨Ûé 
  ¶ÛºõÛ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 

…¬ÛÈÛÛ 
 (…) …éïõ ï×õ¸Û¶Ûà¶ÛÛ× …éïõ ›÷ ÈÛÍ©Ûä¶ÛÛ× Š©¸ÛÛþù¶Û¶ÛÛ× …éïõ …éïõ¾Û¶Ûà ¸Û¦ø©ÛÁõ Ýïõ¾Û©Û ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 7 
  – ˜ÛÜÅÛ©Û Š©¸ÛÛþù¶Û ”Û˜ÛÙ  …éïõ¾Ûþùà¥ø ` 4  
  – ÜÍ¬ÛÁõ Š©¸ÛÛþù¶Û ”Û˜ÛÙ  ` 2,00,000 (ÈÛÛÜÌÛÙïõ) 
  ï×õ¸Û¶Ûà¶Ûà ÍÛÛ¾ÛÛ¶ýÛ Š©¸ÛÛþù¶Û “Û¾Û©ÛÛ 2,00,000 …éïõ¾ÛÛé¶Ûà ™öé …¶Ûé Í¤øÛéïõ¾ÛÛ× ˜ÛÛÅÛä ïõÛ¾Û¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ 

¬Û©ÛÛé ¶Û¬Ûà. 
  ¸Ûó¬Û¾Û ÈÛÌÛÙ¾ÛÛ× ï×õ¸Û¶Ûà…é 2,00,000 …éïõ¾ÛÛé¶Ûä× Š©¸ÛÛþù¶Û ïõýÛäÚ …¶Ûé ©Ûé¶ÛÛ× 90% ›÷é¤øÅÛÛé ›÷¬¬ÛÛé …éïõ¾Û 

þùà¥ø ` 7¶Ûà Ýïõ¾Û©Ûé ÈÛé˜ýÛÛé. 
  ¼Ûà›Û ÈÛÌÛÙ¾ÛÛ× ï×õ¸Û¶Ûà…é 2,10,000 …éïõ¾ÛÛé¶Ûä× Š©¸ÛÛþù¶Û ïõýÛäÚ …¶Ûé 2,15,000 …éïõ¾ÛÛé¶Ûä× ÈÛé˜ÛÛ¨Û ©Ûé ›÷ 

Ýïõ¾Û©Ûé ïõýÛäÚ. 
  ÍÛ¾ÛÛÈÛéÉÛà ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û …¶Ûé ÍÛà¾ÛÛ×©Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶Ûé …ÛµÛÛÁéõ ÈÛÌÛÙ 1 …¶Ûé 2¶ÛÛ× …ÛÈÛïõ¶ÛÛ× 

¸ÛªÛïõÛé ©ÛíéýÛÛÁõ ïõÁõÛé. 
 (¼Û) ¶Ûà˜Ûé¶ÛÛ ªÛ¨Û¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û ¼Ûé …×•Ûé ¤æ×øïõ¾ÛÛ× ›÷¨ÛÛÈÛÛé : 4 
  (1) ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ¶ÛÛ× ºõÛýÛþùÛ 
  (2) ÍÛà¾ÛÛ×©Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û …¶Ûé ÍÛ¾ÛÛÈÛéÉÛà ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û 
  (3) ÍÛà¾ÛÛ×©Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶Ûà ¾ÛýÛÛÙþùÛ…Ûé 
 (ïõ) ¶Ûà˜Ûé¶ÛÛ× ¸Ûíéïõà ïõÛéˆ¸Û¨Û ¼Ûé¶ÛÛé ›÷ÈÛÛ¼Û …éïõ ïéõ ¼Ûé ÈÛÛîýÛÛé¾ÛÛ× …Û¸ÛÛé : 3 
  (1) ÍÛ¾ÛÛÈÛéÉÛà ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶Ûà ÈýÛÛ”ýÛÛ. 
  (2) …ÛÈÛïõ¶Ûà …ÍÛ¾ÛÛ¶Û©ÛÛ (distortion) 
  (3) ¾Ûäþù©Ûà ¸Û¦ø©ÛÁõ¶Ûà ÈýÛÛ”ýÛÛ. 
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2. (…) Š©¸ÛÛþù¶Û ‘…’¶Ûä× ¸Ûó¾ÛÛ¨Û Ü¾ÛËÛ¨Û ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 7 
¾ÛÛÅÛ-ÍÛÛ¾ÛÛ¶Û ÜïõÅÛÛé ÜïõÅÛÛéþùà¥ø ½ÛÛÈÛ  

` 
… 20 4 

¼Û 30 10 

ïõ 50 5 

  Š©¸ÛÛþù¶Û¶Ûà ¸Ûó¾ÛÛ¨Û –Û¤ø þùÛ”ÛÅÛ ïõÁéõÅÛ …éïõ¾Û¶ÛÛ× 10% ›÷é¤øÅÛà ™öé …¶Ûé ©Ûé¶Ûà ½Û×•ÛÛÁõ Ýïõ¾Û©Û ÉÛæ¶ýÛ ™öé. 
  ”ÛÁéõ”ÛÁõ Š©¸ÛÛþù¶Û 7,200 kg¶Ûä× ¬ÛýÛä ›÷é …×•Ûé¶ÛÛé ¾ÛÛÅÛ-ÍÛÛ¾ÛÛ¶Û ÈÛ¸ÛÁõÛÉÛ …¶Ûé Ýïõ¾Û©Û ¶Ûà˜Ûé ¾Ûä›÷¼Û Ðü©ÛÛ : 

¾ÛÛÅÛ-ÍÛÛ¾ÛÛ¶Û ÜïõÅÛÛé ÜïõÅÛÛéþùà¥ø Ýïõ¾Û©Û 
` 

… 1680 3.75 

¼Û 2560 9.50 

ïõ 4160 5.50 

  ¶Ûà˜Ûé¶ÛÛ ÜÈÛ˜ÛÅÛ¶ÛÛé¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé : 

  (1) ¾ÛÛÅÛ-ÍÛÛ¾ÛÛ¶Û ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û 

  (2) ¾ÛÛÅÛ-ÍÛÛ¾ÛÛ¶Û ½ÛÛÈÛ ÜÈÛ˜ÛÅÛ¶Û 

  (3) ¾ÛÛÅÛ-ÍÛÛ¾ÛÛ¶Û ÈÛ¸ÛÁõÛÉÛ ÜÈÛ˜ÛÅÛ¶Û 

  (4) ¾ÛÛÅÛ-ÍÛÛ¾ÛÛ¶Û Ü¾ÛËÛ¨Û ÜÈÛ˜ÛÅÛ¶Û 

  (5) ¾ÛÛÅÛ-ÍÛÛ¾ÛÛ¶Û Š¸Û›÷ ÜÈÛ˜ÛÅÛ¶Û 

    …¬ÛÈÛÛ 
 (…) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà Š¸ÛÁõ¬Ûà ¸ÛÁõÛé“Û ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶ÛÛé¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 7 

 …×þùÛœ÷©Û ”ÛÁéõ”ÛÁõ 

Š©¸ÛÛþù¶Û  20,000 22,000

ïõÅÛÛïõÛé 20,000 22,500

ïõÛ¾ÛïõÛ›÷¶ÛÛ× ÜþùÈÛÍÛÛé 25 26

ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ (`) 80,000 85,000

˜ÛÜÅÛ©Û ¸ÛÁõÛé“Û ”Û˜ÛÙ (`) 1,00,000 1,20,000

 (¼Û) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (ªÛ¨Û¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé) 4 
  (1) ¸Ûó¾ÛÛ¨Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶Ûà Š¸ÛýÛÛéÜ•Û©ÛÛ. 

  (2) ¸Ûó¾ÛÛ¨Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶Ûà ¾ÛýÛÛÙþùÛ…Ûé. 

  (3) ¶ÛºõÛ …ÛµÛÛÜÁõ©Û ÈÛé˜ÛÛ¨Û ¶ÛºõÛ ÜÈÛ˜ÛÅÛ¶ÛÛé ¸Ûíéïõà ïõÛéˆ¸Û¨Û ¼Ûé¶Ûà •Û¨Û©ÛÁõà. 

 (ïõ) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (ïõÛéˆ¸Û¨Û ¼Ûé)  3 
  (1) ¾ÛÛÅÛ-ÍÛÛ¾ÛÛ¶Û Ü¾ÛËÛ¨Û ÜÈÛ˜ÛÅÛ¶Û. 

  (2) ¸Ûó¾ÛÛ¨Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶ÛÛ× ïõÛéˆ¸Û¨Û ªÛ¨Û ÅÛ“Û¨ÛÛé. 

  (3) ÈÛé˜ÛÛ¨Û ÜÈÛ˜ÛÅÛ¶ÛÛé. 
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3. (…) …éïõ ï×õ¸Û¶Ûà¶ÛÛ× …éïõ¾Ûþùà¥ø Š©¸ÛÛþù¶Û¶Ûà ¸Û¦ø©ÛÁõ Ýïõ¾Û©Û ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 7 

 ` 

¸Ûó©ýÛ“Û ¾ÛÛÅÛ-ÍÛÛ¾ÛÛ¶Û 40 

¸Ûó©ýÛ“Û ¾Û›æ÷Áõà 85 

˜ÛÜÅÛ©Û ¸ÛÁõÛé“Û ”Û˜ÛÙ 35 

ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ 40 

ïäõÅÛ 200 

  ÈÛµÛÛÁõÛ¶Ûà ¾ÛÛÜÐü©Ûà : 

  (1) ÜÍ¬ÛÁõ ÈÛÐüàÈÛ¤øà …¶Ûé ÈÛé˜ÛÛ¨Û ¸Û¦ø©ÛÁõ ` 2,50,000/- ™öé. 

  (2) …Û•ÛÛ¾Ûà ÈÛÌÛÙ ¾ÛÛ¤éø¶Ûä× …×þùÛœ÷©Û Š©¸ÛÛþù¶Û …¶Ûé ÈÛé˜ÛÛ¨Û 10,000 …éïõ¾ÛÛé¶Ûä× ÁõÛ”ÛéÅÛ ™öé. 

  (3) ÍÛ×˜ÛÛÅÛïõÛé¶Ûä× …¶Ûä¾ÛÛ¶Û ™öé ïéõ ` 12,50,000/-¶ÛÛ× ˆÜîÈÛ¤øà ½Û×¦øÛéÇ Š¸ÛÁõ …Ûé™öÛ¾ÛÛ× …Ûé™ä×ö 
20% ÈÛÇ©ÛÁõ ¸ÛóÛ¸©Û ¬ÛÉÛé. 

  …éïõ …éïõ¾Û¶Ûà ÈÛé˜ÛÛ¨Û Ýïõ¾Û©Û ÉÛä× ¬ÛÉÛé ©Ûé ¶Û‘õà ïõÁõÛé. 

…¬ÛÈÛÛ 

 (…) …é.¼Ûà. ÅÛà. …éïõ Š©¸ÛÛþù¶Û¶ÛÛ× 1,00,000 …éïõ¾ÛÛé ¼Û¶ÛÛÈÛÈÛÛ¶Ûä× …¶Ûä¾ÛÛ¶Û ïõÁéõ ™öé ›÷é …×•Ûé¶ÛÛé …éïõ¾Û 
þùà¥ø ˜ÛÜÅÛ©Û ”Û˜ÛÙ ` 10.50 ¸ÛíéÍÛÛ ™öé …¶Ûé ÜÍ¬ÛÁõ ”Û˜ÛÙ ` 5,50,000/- ™öé. 7 

  ºõÛˆ¶ÛÛ¶ÍÛ ¾Ûé¶Ûé›÷Áõ¶Ûä× ÍÛæ̃ Û¶Û ™öé ïéõ ï×õ¸Û¶Ûà…é ¸Û¦ø©ÛÁõ Ýïõ¾Û©Û Š¸ÛÁõ 25% ¶ÛºõÛé ˜Û§øÛÈÛà¶Ûé ÈÛé˜ÛÛ¨Û 
ïõÁõÈÛä×. 

  ¾ÛÛïëõ¤øá•Û ¾Ûé¶Ûé›÷Áõ …Û ÍÛæ˜Û¶Û ÍÛÛ¬Ûé ÍÛ×¾Û©Û ¶Û¬Ûà …¶Ûé ©Ûé¾Û¶ÛÛ× ÍÛ¾Û¬ÛÙ¶Û¾ÛÛ× ¶Ûà˜Ûé¶Ûà …Û×ïõ¦øÛïõàýÛ 
¾ÛÛÜÐü©Ûà ¸ÛæÁõà ¸Û¦éø ™öé : 

…éïõ¾Ûþùà¥ø ½ÛÛÈÛ (`) 18 20 22 24 26 

¾ÛÛ×•Û (…éïõ¾ÛÛé) 84000 76000 70000 64000 54000 

  ¾Ûé¶Ûé›÷¾Ûé¶¤ø …éïõÛŠ¶¤ø¶¤ø ©ÛÁõàïéõ Š¸ÛÁõÛéî©Û ¸ÛóÍ©ÛÛÈÛ¶ÛÛé …½ýÛÛÍÛ ïõÁõà¶Ûé ©Û¾ÛÛÁä×õ ¾Û×©ÛÈýÛ ›÷¨ÛÛÈÛÛé. 

 (¼Û) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (ïõÛéˆ¸Û¨Û ¼Ûé)  4 

  (1) Ýïõ¾Û©Û Ü¶ÛµÛÛÙÁõ¨Û¶Ûéé …ÍÛÁõïõ©ÛÛÙ ïõÛéˆ¸Û¨Û ˜ÛÛÁõ ¸ÛÜÁõ¼ÛÇÛé. 

  (2) Ýïõ¾Û©Û Ü¶ÛµÛÛÙÁõ¨Û¶Ûà ¸ÛóÜ’õýÛÛ¾ÛÛ× ÜÐüÍÛÛ¼Û÷¶ÛàÉÛ¶Ûà ½ÛæÜ¾ÛïõÛ. 

  (3) “¸Û¦ø©ÛÁõ …ÛµÛÛÜÁõ©Û Ýïõ¾Û©Û” ¶ÛÛ× ïõÛéˆ¸Û¨Û ªÛ¨Û ŠþùÛÐüÁõ¨Û. 

 (ïõ) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé. (ïõÛéˆ¸Û¨Û ¼Ûé)  3 

  (1) Í¬ÛÛÜ¸Û©Û Š©¸ÛÛþù¶Û …×•Ûé Ýïõ¾Û©Û Ü¶ÛµÛÛÙÁõ¨Û¶Ûà ¸ÛóÜ’õýÛÛ 

  (2) ¶ÛÈÛÛ Š©¸ÛÛþù¶Û …×•Ûé Ýïõ¾Û©Û Ü¶ÛµÛÛÙÁõ¨Û¶Ûà ¸ÛóÜ’õýÛÛ 

  (3) ºäõ•ÛÛÈÛÛ›÷¶ýÛ ¸ÛÜÁõÜÍ¬ÛÜ©Û¾ÛÛ× Ýïõ¾Û©Û Ü¶ÛµÛÛÙÁõ¨Û 
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4. (…) ËÛà …ÛÐäü›Û ` 6,000¶Ûà Ýïõ¾Û©Ûé ÍÛÛ©Û ýÛ×ªÛÛé ”ÛÁõàþùÈÛÛ¶Ûä× ÜÈÛ˜ÛÛÁéõ ™öé. ©Ûé¾Û¨Ûé …éïõ ï×õ¸Û¶Ûà¶ÛÛé ÍÛ×¸ÛïÙõ 
ïõýÛÛë ›÷é̈ Ûé …ÛÈÛä× ›÷ …éïõ ýÛ×ªÛ ÐüÛÅÛ¾ÛÛ× ¼Û¶ÛÛÈÛà¶Ûé ©Ûé¾Û¶ÛÛ× ÐüÁõàºõ¶Ûé ÈÛé˜ýÛä× ™öé. …Û ¸Ûó¬Û¾Û ýÛ×ªÛ¶Ûà 
¸Û¦ø©ÛÁõ Ýïõ¾Û©Û¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé :  7 
  ` 
1. ¸Ûó©ýÛ“Û ¾ÛÛÅÛ-ÍÛÛ¾ÛÛ¶Û ¸ÛóÜ©Û ÜïõÅÛÛéþùà¥ø ` 2¶ÛÛ ½ÛÛÈÛé 30 ÜïõÅÛÛé 60 

2. ¸Ûó©ýÛ“Û ¾Û›æ÷Áõà ïõÅÛÛïõþùà¥ø ` 10 ¶ÛÛ× ½ÛÛÈÛé 100 ïõÅÛÛïõ 1,000 

3. ºéõî¤øÁõà ¸ÛÁõÛé“Û ”Û˜ÛÙ ¸Ûó©ýÛ“Û ¾Û›æ÷Áõà ïõÅÛÛïõþùà¥ø ` 3  300 

     ïäõÅÛ : 1,360 

  …Û ÜïõÍÍÛÛ¾ÛÛ× 80% …µýÛýÛ¶Û ÈÛ’õ (ÅÛ¶Ûã•Û ïõÈÛÙ) ýÛÛé•ýÛ •Û¨ÛÛýÛÛé ™öé. ÈÛµÛä¾ÛÛ× ›Ûé …Û ¸ÛóÍ©ÛÛÈÛ 
ÍÈÛàïõÛÁõÛýÛ ©ÛÛé ï×õ¸Û¶Ûà¶Ûé ¸Ûó©ýÛ“Û ¾ÛÛÅÛ-ÍÛÛ¾ÛÛ¶Û Š¸ÛÁõ 2%¶ÛÛé ÈÛ¤øÛÈÛ ¾ÛÇÈÛÛ¸ÛÛªÛ ™öé. 

   ›Ûé ¸ÛóÍ©ÛÛÈÛ¶ÛÛé ÍÈÛàïõÛÁõ ¬ÛÛýÛ ©ÛÛé …×þùÛœ÷©Û ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 

…¬ÛÈÛÛ 

 (…) ¸Ûä›Û ˆÅÛéî¤ÖøÛéÜ¶ÛîÍÛ ÅÛà. VCD ÍÛé¤ø¶Ûä× Š©¸ÛÛþù¶Û ïõÁéõ ™öé. ¸Ûó¬Û¾Û ÍÛé¤ø ¼Û¶ÛÛÈÛ©ÛÛ× ¾ÛÛÅÛ-ÍÛÛ¾ÛÛ¶Û¶Ûà 
¸Û¦ø©ÛÁõ ` 1,500/- …¶Ûé ¾Û›æ÷Áõà ïõÅÛÛïõ 500 ¬ÛýÛÛ. ¾Û›æ÷Áõà …¶Ûé ˜ÛÜÅÛ©Û ”Û˜ÛÙ ïõÅÛÛïõþùà¥ø ` 7.50 
¸ÛíéÍÛÛ ™öé.    7 

  Š©¸ÛÛþù¶Û¶Ûé 80% …µýÛýÛ¶Û ÈÛ’õ (ÅÛ¶Ûã•Û ïõÈÛÙ) ÅÛÛ•Ûä ¸Û¦øÉÛé ©Ûé¾Û µÛÛÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 

  Š¸ÛÁõ¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¸Ûó¬Û¾Û …éïõ¾Û …¶Ûé ïäõÅÛ …Û¥ø …éïõ¾ÛÛé¶Ûà ïäõÅÛ ¸Û¦ø©ÛÁõ …¶Ûé ÍÛÁéõÁõÛÉÛ …éïõ¾Û 
¸Û¦ø©ÛÁõ ÉÛÛéµÛÛé. 

 (¼Û) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (ïõÛéˆ¸Û¨Û ¼Ûé)  4 

  (1) ¾Ûé¶Ûé›÷¾Ûé¶¤ø …éïõÛŠ¶¤øá•Û¶ÛÛ× ÍÛ×þù½ÛÙ¾ÛÛ× …µýÛýÛ¶Û ÈÛ’õ (ÅÛ¶Ûã•Û ïõÈÛÙ)¶Ûà …ÍÛÁõÛé. 

  (2) …µýÛýÛ¶Û ÈÛ’õ¶Ûà ”ÛÛ¾Ûà…Ûé. 

  (3) …µýÛýÛ¶Û þùÁõ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 

 (ïõ) ¤æ×øïõ¾ÛÛ× þùÉÛÛÙÈÛÛé : (ïõÛéˆ¸Û¨Û ¼Ûé)   3 

  (1) …µýÛýÛ¶Û ÈÛ’õ¬Ûà …ÍÛÁõ ¸ÛÛ¾Û©Ûà ¸Û¦ø©ÛÁõÛé¶ÛÛ× ¶ÛÛ¾Û …Û¸ÛÛé. 

  (2) 80% …¶Ûé 90% …µýÛýÛ¶Û ÈÛ’õ ÉÛä× þùÉÛÛÙÈÛé ™öé ? 

  (3) ¸Û¦ø©ÛÁõ …×ïäõÉÛ …¶Ûé ¸Û¦ø©ÛÁõ –Û¤øÛ¦øÛé ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û þùÉÛÛÙÈÛÛé. 

 
5. ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ …éïõ ¬Ûà ÈÛµÛä ›÷ÈÛÛ¼Û þùÉÛÛÙÈÛéÅÛÛ ™öé ›÷é ¸Ûíéïõà¶ÛÛé ÍÛÛ˜ÛÛé ›÷ÈÛÛ¼Û ¶Û‘õàõ ïõÁõÛé : 14 

 (1) ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ¶Ûä× ÈÛíéïõÜÅ¸Ûïõ ¶ÛÛ¾Û 

  (…) ¸Ûó©ýÛ“Û ¸Û¦ø©ÛÁõ (¼Û) ÍÛ¾ÛÛÈÛéÉÛà ¸Û¦ø©ÛÁõ 

  (ïõ) ¸Ûó¾ÛÛ¨Û ¸Û¦ø©ÛÁõ (¦ø) ¸ÛóÜ’õýÛÛ …ÛµÛÛÜÁõ©Û ¸Û¦ø©ÛÁõ ™öé. 

 (2) ºéõî¤øÁõà¾ÛÛ× šýÛÛÁéõ ¶ÛÈÛÛ ïõÛ¾Û¶Ûà ÉÛÄ…Û©Û ¬ÛÛýÛ ™öé ©ýÛÛÁéõ ÉÛÄõ…Û©Û¶ÛÛ× ©Û¼Û‘õÛ¾ÛÛ× ©Ûé¶Ûà •ÛÜ©Û 

  (…) ©Ûé›÷  (¼Û) µÛà¾Ûà 

  (ïõ) ¾ÛµýÛ¾Û  (¦ø) …Û¾ÛÛ¶Ûä× ïõÉÛä× ¶ÛÐüá ÐüÛéýÛ ™öé. 
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 (3) ¸Û¦ø©ÛÁõ ÍÛÐü Ýïõ¾Û©Û (ïõÛéÍ¤ø ¸ÅÛÍÛ ¸ÛóÛˆ¡öá•Û) Ðéü¥øÇ Ü¶ÛïõÛÍÛ¶Ûà Ýïõ¾Û©Û ¶Û‘õà ïõÁõÈÛÛ ¾ÛÛ¤éø ______ 
ÍÛÛ¬Ûé ©Û¾ÛÛ¾Û ¸ÛÁõÛé“Û ”Û˜ÛÙ …¶Ûé ¶ÛºõÛ¶Ûà Áõïõ¾Û¶Ûé ïäõÅÛ ¸Û¦ø©ÛÁõ¶Ûà •Û¨Û©ÛÁõà¾ÛÛ× µýÛÛ¶Û¾ÛÛ× ÅÛéÈÛÛýÛ ™öé. 

  (…) ÜÍ¬ÛÁõ ”Û˜ÛÙ (¼Û) ˜ÛÜÅÛ©Û ”Û˜ÛÙ 

  (ïõ) ïäõÅÛ ”Û˜ÛÙ (¦ø) …Û¾ÛÛ×¶Ûä ïõÉÛä ¶ÛÐüá 

 (4) ÜÈÛÜÉÛÌ¤ø …Ûé¦ÙøÁõ¶Ûé ¸ÛÐüÛê˜Ûà ÈÛÇÈÛÛ ÈÛµÛÛÁõÛ¶ÛÛ× Š©¸ÛÛþù¶Û ¾ÛÛ¤éø ©ÛºõÛÈÛ©Û-¸Û¦ø©ÛÁõ ºõî©Û ______ ¶Ûé 
µýÛÛ¶Û¾ÛÛ× ÅÛé ™öé. 

  (…) ÈÛµÛÛÁõÛ¶Ûà ¸Û¦ø©ÛÁõ (¼Û) ïäõÅÛ ¸Û¦ø©ÛÁõ 

  (ïõ) ¶ÛºõÛ ÍÛÜÐü©Û¶Ûà ¸Û¦ø©ÛÁõ (¦ø) ÜÍ¬ÛÁõ ¸Û¦ø©ÛÁõ 

 (5) ÍÛ¾ÛÛÈÛéÉÛà ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ¶ÛÐüá ïõÁõ¶ÛÛÁõ ¸Ûé§øà¶Ûä× ÜÍ¬ÛÁõ ¸Û¦ø©ÛÁõ …µýÛýÛ¶Û ÈÛ’õ ³ùÛÁõÛ …ÍÛÁõ 
¸ÛÛ¾Ûé ™öé ? 

  (…) ÐüÛ  (¼Û) ¶ÛÛ 

  (ïõ) ÐüÛ, ¸ÛÁ×õ©Ûä …¾Ûäïõ ÜïõÍÍÛÛ…Ûé¾ÛÛ×›÷ (¦ø)  ï×õˆ ïõÐüà ÉÛïõÛýÛ ¶ÛÐüá 

 (6) ¶Ûà˜Ûé¶ÛÛ× ¸Ûíéïõà¾ÛÛ×¬Ûà ÉÛä× ‘ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û’ ¶Û¬Ûà ©Ûé ›÷¨ÛÛÈÛÛé. 

  (…) ›÷¬¬ÛÛ ÉÛÜî©Û ÜÈÛ˜ÛÅÛ¶Û (¼Û) Š©¸ÛÛþù¶Û ÉÛÜî©Û ÜÈÛ˜ÛÅÛ¶Û 

  (ïõ) ïéõÅÛé¶¦øÁõ ÜÈÛ˜ÛÅÛ¶Û (¦ø) Ü¶ÛÜÌ’õýÛ ïéõ …¶Ûä©¸ÛÛþùïõ ÍÛ¾ÛýÛ ÜÈÛ˜ÛÅÛ¶Û 

 (7) šýÛÛÁéõ Š©¸ÛÛþù¶Û ›÷¬¬ÛÛé ÈÛé˜ÛÛ¨Û ›÷¬¬ÛÛ¬Ûà ÈÛµÛÛÁéõ ÐüÛéýÛ ©ýÛÛÁéõ ________ ¶Ûä× …ÜÍ©Û©ÈÛ ÁõÐéü ™öé. 

  (…) ÉÛÄõ…Û©Û¶ÛÛé Í¤øÛéïõ (¼Û) …Û”ÛÁõ¶ÛÛé Í¤øÛéÁõ 

  (ïõ) ¦éø¦ø Í¤øÛéïõ (¦ø) ˜ÛÛÅÛä ïõÛ¾Û¶ÛÛé Í¤øÛéÁõ 

 (8) ÍÛ¾ÛÛÈÛéÉÛà ¸Û¦ø©ÛÁõ ¼Ûà›Û …Û ¶ÛÛ¾Û¬Ûà ¸Û¨Û …ÛéÇ”ÛÛýÛ ™öé. 

  (…) ¸Ûæ¨ÛÙ ¸Û¦ø©ÛÁõ (¼Û) ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ 

  (ïõ) ÍÛàµÛà ¸Û¦ø©ÛÁõ (¦ø) …Û¾ÛÛ¶Ûä× ïõÉÛä× ¶ÛÐüá 

 (9) ËÛéÌ¥ø ïõÛ¾Û•ÛàÁõà¶Ûà ¸ÛÜÁõÜÍ¬ÛÜ©Û¾ÛÛ× ›÷é ÜÍÛ±ù ¬Ûˆ ÉÛïéõ ©ÛéÈÛÛ ¸Ûó¾ÛÛ¨Û¶Ûé ________ ïõÐéüÈÛÛýÛ. 

  (…) …íéÜ©ÛÐüÛÍÛàïõ ¸Ûó¾ÛÛ¨Û (¼Û) …×þùÛœ÷©Û ¸Ûó¾ÛÛ¨Û 

  (ïõ) …ÛþùÉÛÙ ¸Ûó¾ÛÛ¨Û (¦ø) ÍÛÛ¾ÛÛ¶ýÛ ¸Ûó¾ÛÛ¨Û   

 (10) ¸Û¦ø©ÛÁõ ¶Ûà˜Ûà ÅÛÛÈÛÈÛÛ¶ÛÛ× ¸ÛóýÛ©¶Û¶Ûé ______ ïõÐéüÈÛÛýÛ. 

  (…) ¸Û¦ø©ÛÁõ –Û¤øÛ¦øÛé (¼Û) ¸Û¦ø©ÛÁõ …×ïäõÉÛ 

  (ïõ) …µýÛýÛ¶Û ÈÛ’õ (¦ø) …Û¾ÛÛ×¶Ûä× ïõÉÛä× ¶ÛÐüá 

 (11) Ýïõ¾Û©Û …ÛµÛÛÜÁõ©Û Ü¶Û¨ÛÙýÛÛé¶Ûà ¾ÛÐü«ÈÛ¶Ûà …ÍÛÁõ ÍÛ×Í¬ÛÛ¶ÛÛ× ______ Š¸ÛÁõ ¬ÛÛýÛ ™öé. 

  (…) ÈÛé˜ÛÛ¨Û ›÷¬¬ÛÛ (¼Û) ¶ÛºõÛïõÛÁõïõ©ÛÛ 

  (ïõ) Š©¸ÛÛþù¶Û (¦ø) Š©¸ÛÛþù¶Û ¸Û¦ø©ÛÁõ 
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 (12) ›Ûé ¸Ûó¾ÛÛ¨Û ”Û˜ÛÙ ïõÁõ©ÛÛ× ”ÛÁéõ”ÛÁõ ”Û˜ÛÙ ÈÛµÛä ¬ÛÛýÛ ©ÛÛé ©Ûé ______ ïõÐéüÈÛÛýÛ. 

  (…) …¶ÛäïæõÇ ÜÈÛ˜ÛÅÛ¶Û (¼Û) ¸ÛóÜ©ÛïæõÇ ÜÈÛ˜ÛÅÛ¶Û 

  (ïõ) ¸Û¦ø©ÛÁõ ÜÈÛ˜ÛÅÛ¶Û (¦ø) …Û¾ÛÛ×¶Ûä× ïõÉÛä ¶ÛÐüá 

 (13) µÛ×µÛÛ¶Ûà Š©¸ÛÛþù¶Û “Û¾Û©ÛÛ¾ÛÛ× ºéõÁõºõÛÁõ¶Ûé ïõÛÁõ¨Ûé Š©¸ÛÛþù¶Û¶ÛÛé ›÷¬¬ÛÛé ›Ûé ÈÛµÛé ïéõ –Û¤éø ©ÛÛé ©ýÛÛÁéõ 
ŠþÕù½ÛÈÛ©Ûä ÜÈÛ˜ÛÅÛ¶Û ______ ïõÐéüÈÛÛýÛ. 

  (…) Š©¸ÛÛþù¶Û ÉÛÜî©Û ÜÈÛ˜ÛÅÛ¶Û (¼Û) ïéõÅÛé¶¦øÁõ ÜÈÛ˜ÛÅÛ¶Û 

  (ïõ) ›÷¬¬ÛÛ ÜÈÛ˜ÛÅÛ¶Û (¦ø) ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û 

 (14) ______ Ðéü¥øÇ ÈÛé˜ÛÛ¨Û š¬¬ÛÛ¾ÛÛ× ¬Û©ÛÛ× ºéõÁõºõÛÁõ¶Ûé ïõÛÁõ¨Ûé ¶ÛºõÛ Š¸ÛÁõ ¼ÛÐäü …ÍÛÁõ ¬Û©Ûà ¶Û¬Ûà. 

  (…) ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û (¼Û) ©ÛºõÛÈÛ©Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û 

  (ïõ) ÍÛ¾ÛÛÈÛéÉÛà ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û (¦ø) …Û¾ÛÛ×¶Ûä× ïõÉÛä× ¶ÛÐüá 

_________ 



TE-123 7 P.T.O.  

     Seat No. :  _______________ 
  

TE-123 
May-2013 

M.Com. (Sem.-II) 
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Time :  3 Hours]  [Max. Marks : 70 
 
1. (A) The budgeted provision and sales of a company for the year 2012 were fixed at 

40,000 units. Other details are as follows : 7 
  – Selling Price –  ` 15 per unit 
  – Variable Cost –  ` 6 per unit 
  – Fixed Cost –  ` 3,00,000 
  The company adopts absorption costing and the budgeted absorption rate of fixed 

overhead was fixed at ` 8 per unit. 
  During the year 2012, it was estimated that only 30,000 units will be sold and the 

management decided to increase the production volume of the year to 50,000 units 
to show higher profits. However, the fixed costs are expected to remain the same 
only. 

  If the sales were 30,000 units, calculate profit according to : 
  (i) Absorption costing 
  (ii) Variable costing. 
    OR 
 (A) A company produces only one product which had the following costs : 7 
  – Variable manufacturing cost ` 4 per unit. 
  – Fixed manufacturing cost ` 2,00,000 per annum. 
  The normal capacity is set at 2,00,000 units. 
  There are no work-in-progress inventories. 
  In year – I, the company produced 2,00,000 units and sold 90% of them at a price 

of ` 7 per unit. 
  In year – II, the company produced 2,10,000 units and sold 2,15,000 units at the 

same price. 
  You are required to prepare income statements for the year – I and II based on 

Absorption costing and Marginal costing. 
 
 (B) Write in brief any two of three :  4 
  (1) Advantages of variable costing. 
  (2) Difference between marginal costing and absorption costing. 
  (3) Limitations of marginal costing. 
 

 (C) Answer any two in one or two lines only. 3 
  (1) Meaning of absorption costing. 
  (2) Income distortion. 
  (3) Definition of “Period Cost”. 
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2. (A) The standard mix of product ‘A’; is as follows : 7 
Material Kg Price per kg 

` 
A 20 4 
B 30 10 
C 50 5 

  The standard loss in production is 10% of the input. There is no scrap value. 
  Actual production of product ‘A’ was 7,200 kgs. Actual consumption of material 

and cost were as follows : 
Material Kg Price per kg 

` 
A 1680 3.75 
B 2560 9.50 
C 4160 5.50 

  Calculate the following variances : 
  (1) Material Cost Variance 
  (2) Material Price Variance 
  (3) Material Usage Variance 
  (4) Material Mix Variance 
  (5) Material Yield Variance 
    OR 
 (A) From the following data, calculate the overhead variances : 7 

 Budget Actual 
Production (units) 20,000 22,000
Hours 20,000 22,500
Working days 25 26
Fixed overheads (`) 80,000 85,000
Variable overheads (`) 1,00,000 1,20,000

 

 (B) Write in brief any two out of three :  4 
  (1) Utility of Standard Costing. 
  (2) Limitations of Standard Costing. 
  (3) Describe the calculation of any two “Profit based sales margin variance”. 
 

 (C) Write in brief any two out of three.  3 
  (1) Explain material mix variance. 
  (2) Characteristics of standard costing (any three). 
  (3) Variance based on sales value. 
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3. (A) A company has the following cost structure of its product : 7 

 ` 

Direct Material 40 

Direct Labour 85 

Variable overhad 35 

Fixed overhead 40 

                  Total 200 

  Additional information : 

  (1) Fixed selling and administrative cost is ` 2,50,000. 

  (2) Budgeted production and sale for the next year is 10,000 units. 

  (3) The management expects a minimum return of 20% on equity investments of 
` 12,50,000. 

  What price should it charge for one unit of its output ? 

OR 

 (A) A.B. Ltd. budgets to make 1,00,000 units of a product. The variable cost per unit is 
` 10.50 ps. Fixed costs are ` 5,50,000. The Finance Manager has suggested that 
the cost plus approach should be used with a profit mark up of 25%. 7 

  The marketing director however, is not in agreement with the finance head and he 
has supplied the following data : 

Price per Unit (`) 18 20 22 24 26 

Demand (Units) 84000 76000 70000 64000 54000 

  As a management accountant, analyse the above proposal and comments. 

 (B) Write in brief any two out of three :  4 

  (1) Any four factors affecting pricing decisions. 

  (2) Role of Accountant in pricing decision. 

  (3) Name any three “Cost oriented pricing” 

 (C) Write in brief any two out of three :  3 

  (1) Pricing strategies for established product. 

  (2) Pricing strategies for a new product. 

  (3) Pricing in inflation. 
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4. (A) Mr. Ahuja wanting to purchase seven machines for ` 6,000. He approaches a 
company which had recently completed and sold one similar machine to a 
competitor. In determining the cost of the first machine manufactured, the 
following cost data are available :  7 
  ` 
1. Direct Material 30 kg at ` 2 per kg 60 
2. Direct Labour 100 hours at ` 10 per hour 1,000 
3. Factory Overhead ` 3 per direct labour hour 300 
                             Total : 1,320 

  An 80% learning curve is thought to be perfect in this case. Also if this offer is 
accepted, the company will be eligible for a 2% quantity discount on direct 
materials. 

   Calculate your estimated profit or loss, if the offer is accepted. 
OR 

 (A) Pooja Electronics Ltd. produces VCD sets. While preparing its first set the material 
cost was ` 1,500 and labour hours were 500, wages and variable cost will be ` 7.50 
per hour.    7 

  Assume that 80% learning curve will apply to its production. 
  Find out the total cost and average cost per unit of producing 1st and total 8 units 

on the basis of above data. 
 

 (B) Write in brief any two out of three :  4 
  (1) Explain in brief the relevance of learning curve effects in Management 

Accounting. 
  (2) Limitations of learning curve. 
  (3) Define Learning rate. 
 

 (C) Write in brief any two out of three :  3 
  (1) Name the costs which are affected by the Learning curve. 
  (2) What do 80% and 90% learning curve indicate ? 
  (3) Differentiate the two : cost control and cost reduction. 
 
5. Following questions contain more than one answers from which choose the correct 

answer :     14 
 (1) Variable costing is also known as 
  (a) Direct costing (b) Absorption costing 
  (c) Standard costing (d) Activity Based Costing (ABC) 
 (2) When a new work is started in the factory, the speed in the initial stage remains : 
  (a) High  (b) Slow 
  (c) Medium (d) None of the above 
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 (3) Under cost plus pricing, _______ are taken into consideration including an 
allowance for all overheads and adds profit margin to the total cost for export 
pricing : 

  (a) Fixed costs (b) Variable costs 

  (c) Full costs (d) None of the above 

 (4) The differential cost pricing takes into consideration only the _______ incurred 
with additional output for meeting special order. 

  (a) Additional cost (b) Total cost 

  (c) Cost plus profit (d) Fixed cost 

 (5) In case of a firm, not following the absorption costing, whether fixed costs are 
affected by the learning curve ? 

  (a) Yes  (b) No 

  (c) Yes, in certain cases (d) Can’t say 

 (6) Out of the following, name the one which is not “Fixed Overhead Variance”. 

  (a) Volume variance (b) Capacity variance 

  (c) Calender variance (d) Idle time variance 

 (7) Where the production volume is more than the sales volume, there is bound to be 
some 

  (a) Opening stock (b) Closing stock 

  (c) Dead stock (d) Work-in-process stock 

 (8) Absorption costing is also known as 

  (a) Full costing (b) Variable costing 

  (c) Direct costing (d) None of the above 

 (9) The standards which can be attained under the most favourable conditions : 

  (a) Historical standards (b) Expected standards 

  (c) Ideal standards (d) Normal standards 

 (10) _______may be defined as an attempt to bring costs down.  

  (a) Cost reduction (b) Cost control 

  (c) Learning curve (d) None of the above 

 (11) Pricing decisions have vital impact on the _______ of the organization. 

  (a) Sales volume (b) Profitability 

  (c) Production (d) Cost of product 

 (12) When actual cost is more than the standard cost, the variance is known as 

  (a) Favourable variance (b) Adverse variance 

  (c) Cost variance (d) None of the above 
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 (13) The volume of production increases or decreases due to increase or decrease in 
productive capacity of the business unit. The resultant variance is called 

  (a) Capacity variance (b) Calender variance 
  (c) Volume variance (d) Expenditure variance 
 (14) The profit is not much affected by change in sales volume under : 
  (a) Variable costing (b) Differential costing 
  (c) Absorption costing (d) None of the above 

_____________ 
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